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Coding of model for sodium-water reaction products transport

Naoki Yoshioka*, Masako cishida® ™
Hirosi Yoshihara*, Hiroo Osada*

Abstract

The LMFBR concept without secondary sodium system is considered to be one of the most
promising concepts for plant cost reductions. In this type of LMFBR, steam generators(SGs) are
directly equipped in the primary sodium system. Therefore,the evaluation of effects of
sodium-water reaction products (SWRPs) to the reactor core in case of SG tube rupture becomes
one of the major safety issues.

In this work, SWAC-13E, the thermal-hydraulic analysis code for sodium-water reaction
developed by Power Reactor and Nuclear Fuel Development Corporation,was improved so as to
evaluate the transport of SWRPs in the primary sodium system containing reactor core. In this
improvement, SWRPs transport model (REACT) , that treats solution, precipitation, deposition
and so on, was added and it was intended that REACT is independent of the original part of
SWAC-13E as much as possible.

The improved analysis code (new SWAC-13E) was applied to the evaluation of SWRPs transport
phenomena of typical planned LMFBR plant without secondary sodium system . The results of
this analysis were qualitatively reasonable, and it was confirmed that the new SWAC-13E was
applicable to the evaluation of the transport behavior of SWRPs,
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R 0.363 .8 -4.15 0.680 350 .0
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1.0 0.01

&tk REBE 2TV, T VP LELRT— 5 TH b,

B-2



GRICERY DRI HFEDL2EHE, B RUHEHA
FICERSP R LSV DI, BHEE 23BB TV FLoHETHD, —FH. Bk
AT ED 7 — FHEITlE, iiEFIEVWEERIEHF T VFLAHEFO/ —FIZEgTh
BIGENH D, F D0, RIGEBRYZITFMIIIARSFET LO /) — FoElLidE
A/ —F7F—% (/—FER BS,HK) AV LFEELL. LEREEE
TROL ) ICEBERZZE L CTRCERYBITFMHEOT— 4252 5%,
(BEL2VHEAI0.02 AHT5)

Fese== ]
R S -
Lo o
b J
BAEEN LD ) — FE5 B A 4T 2T AE
- EEE B — K5
(BELL W)
@)/ — FPrfE &
mhoHH 6=90° : kEEDih
6=90" : TFTHXODHENI
6 =0 . KFiR
(5) U By D BE~ DT 2

AERT— I EETDH Y, KﬁﬁTMOM%AﬁLto%ﬁH%EKGEVE&%
DNFF R, BEMEMREIETT %,

OHEREEE /ST A — %

BEILI [RAE—EE-HET) 2506 LTATLTWS, $Y¢®Tma®
BEE,



RKB-1 ANT—%DFHH

% B & B M 7
4400~4409 |FCR (10) — S A AR TR RS
4410~4449 |THTAN (40) i3 7 — FRATEDMHE &
4450~4489 | ACR (40) m’ B A e 1 7 2R R
4490~4529 | VD (40) m BHSHE R DR iR B R
4530~4569 |MLP (40) m REERY ORI RDEH S
4570~4609 | AD (40) m’ BB LR
4610~4619 |SKD (10) mm | R R T
4620~4819 ?:?S J(lljzéc )k=1,5 ::21 li:sec ?mgzg%—fgiﬁ%%ﬂz/ - F

4820 |CR — RS B DB~ DI R

4821 ROWNAQ kg/m®*  |Na,0n@E

4822  |SK - TR ST A — 5
4823~4829 |53 —
4830~4869 |MRPTOT (40) kg WED ) — FRRGERYRE
4870~4909 |C (40) - FHAON a N a O HigfE
4910~4949 |CRNA (40) — RO N a PR FIRIS LR IR
4950~4989 | MCRWAL (40) kg WO RIGE RN % &
4990~5029 | MCRNA (40) kg . |OBION a pRIGERYEER
5030~5069 |MDTOT (40) kg RO KRR E
5070~5109 |MSOL (40) kg WHON a pRIGEFADERE
5110~5149 |TCRWAL (40) mmn BEICAEE LTV B SR A o0 WIRAAT B
5150~5189 | TD (40) mm RS & B DAL E B
5190~5500 | ¥ 3 —




AMIER CIBEERAANT-—2UX b

C-1



= SWAC13E QUASI-STEADY ** PLANT SYSTEM DATA REVISION ** <CASE-C>'96.4.25

3. 1 1
7 1200000
26 5 1000 1000
49 1 1
56 1 50
52 1 1
58 1 1
1 4 0.0
= SWAC-=13 MODULE DATA
1 5 1 18
8 5 17 0
26 10 11 1
36 2 12 11
47 10 1 2
57 9 11 12
102 10 2 3
112 9 12 13
157 3 0 0
890 - 2 1 1
901 10 13 0
911 10 1 1
921 9 1 1
1007 3 0 0
1045 5 50 50
1050 5 200 200
1055 5 0 0
1091 1 0
16 2 0.15
41 3 0.0
44 5 -9.05
49 5 -1.10
54 5 8.95
59 3 -0.32
84 5 0.5925
89 5 0.3055
94 5 0.5925
99 3 3.60
124 5 5.40
129 5 31.28
134 5 5.30
139 3 0.95
164 1 0.3055
174 1 0.3055
184 1 0.3055
194 1 0.3055
204 1 0.3055
214 - 1 0.3055
224 1 10.0000
234 1 10.0000
244 1 0.01.90
254 1 0.0190
264 1 0.3055
274 1 0.3055
284 1 0.4890
294 1 0.3055
304 1 0.4414
314 1 0.4890
324 1 3.6000
334 1 3.6000
344 1 3.6000
714 1 1.7180
724 1 11.00

1000

=
o

OO s W W N o

e

1000 1000
0.0 0.0

18 2

16 17
3 4 5
4 5 &
14 15 9
5 6 7
7 14 15
0 1 1
1 1 1
1 1 1

50 50

200 200

0 0

1.00

0.0480 0.0318
-7.50 -0.05
-5.875 -3.62
7.40 1.86
0.65 ~-7.65
0.3055 0.3055
2,55 0.6272
0.3055 0.4830
3.60 4.00
2.00 20.00
0.50 6.30
2.50 56.90
1.00 18.60

30.00

RO W ] (o2}
0 ~1

el
l_l

1.86
-1.10
-4.15

0.3055

78.20

34.80

8 13

1 10

10 11

=
P <o

-1.35
-0.05
=3.775

0.3055
0.5925
0.36

6.85
5.30
59.50



734 .

744
754
764
774
784
794
804
814
824

834

844

854

864

874

884

854
1814
1824
1834
1844
1854
1864
1874
1884
1894
1504
1514
1924
1934
1944
1954
1964
1974
1984
1994
2969
2972
2973
2974
2977
2879
2984
2989
2994
3034
3038
3044
3049
3074
3077
3121
3126
3131
3141
3146
3151
3161
3162
3167
3172
3177
3257
3262
3265
3311

HOWSWAUVMRPWAUWOOORWOUO R CUUIER PR R e 2 s b B S 1 s b e bt (3 S 3 2 S 2 = e 0 3 2 o o s jm e o s

49.10
42.50
19.10
15.64

366.
732.
-366.

OCOO0OOoOoOPRPNE

PR Re o

0.001
8.00
34.00
4.75
1.50
0.001

e
[ 2 e B B }

9.807
10.0
0.0005

366.
732.
-366.

S OO0 QOO P NMFE

PR PREOo

0.65
4.00
9.50
1000.00
4.75
1.00
0.001

el
cooo

9.807
0.001
0.0005

366.
-366.
366.

COoOOORRERRE

RO

9.05
4.80
12.00

4.00
0

el
c oo

1.41

30.0

366.
-366.
366,

B

RER

106.0



3321 1 0.7540

3331 1 0.2757

3341 1 0.2757

3351 1 0.7540

3361 1 0.0733

3371 1 0.0733

3381 1 0.0733

3391 1 0.0733

3401 1 0.0733

3411 1 0.3090

3421 1 0.3090

3431 1 10.1800

3441 1 10.1800

3451 1 0.0733

346l 1 0.153¢

3471 1 0.1880

3481 1 0.1875

3491 1 0.0733

3900 1 0.00005

4001 5 425.0 350.0 350.0 350.0 350.0
40086 5 350.0 350.0 425.0 500.0 425.0
4011 5 425.0 500.0 500.0 350.0 500.0
4016 3 500.0 500.0 200.0

4041 5 1000.0 20.0 1.38 0.66 3.356E-11
4046 5 0.136 1.0 10000.0 0.50 0.05
4051 5 0.50 0.05 0.0 0.0 0.0
4056 5 0.0 0.0054 0.0 0.0 0.0
4061 4 0.0 0.0 0.0 0.0

4065 4 0.0 0.0 0.0 0.0

4069 5 0.0 0.0 0.0 0.0 0.0
4074 5 0.0 0.0 0.0 0.0 0.0
4101 5 1.0 1.0 1.0 1.0 1.0
4106 5 1.0 1.0 1.0 1.0 1.0
4111 5 1.0 1.0 1.0 1.0 1.0
4116 3 1.0 1.0 1.0

4141 5 1.0 1.0 1.0 1.0 1.0
4146 5 1.0 1.0 1.0 1.9 1.0
4151 5 1.0 1.0 1.0 1.0 1.0
4158 3 1.0 1.0 1.0

4181 5 1.0 1.0 1.0 1.0 1.0
4186 5 1.0 1.0 1.0 1.0 1.0
4191 5 1.0 1.0 1.0 1.0 1.0
4196 3 1.0 1.0 1.0

4221 5 1.0 1.0 1.0 1.0 1.0
4226 5 1.0 1.0 1.0 1.0 1.0
4231 5 1.0 1.0 1.0 1.0 1.0
4236 3 1.0 1.0 1.0

4261 5 1.0 1.0 1.0 1.0 1.0
4266 5 1.0 1.0 1.0 1.0 1.0
4271 5 1.0 1.0 1.0 1.0 1.0
4276 3 1.0 1.0 1.0

4310 5 0.0 0.0 0.0 0.0 0.0
4315 3 0.0 0.0 0.0 0.0 0.0
4320 5 0.0 0.0 0.0 0.0 0.0
4325 5 0.010 7.0E+6 7.0E+6 7.0E+6 1000.0
4330 5 1000.0 30.0 1000.0 1000.0 1000.0
4335 1 1000.0

4400 5 0.01 0.04 0.1 0.15 0.2
4405 5 0.2 0.15 0.1 0.04 .01
4410 5 -90.0 0.0 90.0 -90.0 6.0
4415 5 -90.0 90.0 90.0 90.0 96.0
4420 5 0.0 0.0 -90.0 0.0 -9¢.0
4425 3 90.0 90.0 -90.0

4450 5 11.000 1.728 17.300 72.270 6.574
4455 5 37.805 4.006 12.414 7.917 11.000
4460 5 11.000 1.728 92.600 67.200 74.343



4465
4490
4495
4500
4505
4530
4535
4540
4545
4570
4575
4580
4585
4610
4615
4620
4624
4628
4632
4636
4640
4644
4820

W R BB R EREROTOWOOUW OO WD;U oW

11.027 11.027
1.31 0.0
0.0 2.6
0.0 0.0
0.0 0.0
4.3 0.0
0.0 0.5
0.0 0.0
0.0 0.0
0.3043 0.0
0.0 5.1070
0.0 0.0
0.0 0.0
0.1 0.2
0.6 0.7
0.0 0.0
4.0 12.300
5.5 7.770
8.0 3.885
12.0 1.295
26.0 0.0259
1000.0 0.0025%
0.05 2270.00

200.000
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this is the main routine of swacs which evaluates sodium-
water reaction accidents of an lmfbr steam generator system.
swacs contains four calculation models,

those are a water leak rate calcuration model,

an initial pressure spike buildup model,

t=
=]

=]
s
=]

LHETITTIRTEE00 7070070070 0070107007 swacs J71/177777070000700870071700707010717

an initial pressure spike propagation model in the

secondary loop system involving leak sg ,
and a quasi-steady pressur buildup model.

version name is

sEE=E====s Swacs/reg4f version _=s=====m=ss

- Jjune 1982 -

swacs-4b-version *

program is modified for the cavitation model in

the initial pressure spike and pressure propagation
calculation modules. by osam, dec. 1979

swacs-4c-version *

program is modified for the n2 gas flow model in

the water injection calculation module as an option.
by osam, mar. 1980

swacs-4dh-version *

program is modified for the thrust force model

option in the water leak rate calculation module.
by hiroi, 1980

swacs-4d-version *
program is modified for the flow area change option in
the water leak rate calculation module.

by osam, sep. 1980

swacs-4e-version *
program is modified for the energy blance model
and the drift-flux two-phase formulation in the gasi-
steady pressure calculation module.
(this model is named swac-13e ver. lev.la)
by osam & sasamoto, mar. 1982

swacs-4f-version *

program is modified for the pancake hydrogen bubble
growth model option in the initial pressure spike
calculation module. by osam, dJun. 1982

option file{ 9)

D-2

00030890
00030900
00030910
00030920
00030930
000309490
00030850
00030960
00030970
00030880
00030830
00031000
00031010
00031020
00031030
00031040
00031050
00031060
00031070
00031080
00031090
00031100
00031110
00031120
00031130
00031140
00031150
00031160
00031170
00031180
00031180
00031200
00031216
00031220
00031230
00031240
00031250
00031260
00031276
00031280
00031290
00031300
00031310
00031320
00031330
000313490
00031350
00031360
00031370
00031380
00031390
00031400
00031410
00031420
00031430
00031440
00031450
00031460
00031470
00031480
00031490
00031500
00031510
00031520
00031530
00031540



aaoaoaaoaan

00

common  /tim0/ deltim
equivalence
{icont( 1),jijet) ,(icont({ 2),jispb) ,{icont{ 3),jgstd)

, {icont( 4),jispb2) , (icont{ &),nstep) ,({icont{ 7}, jstep)
, {icont{ 8),kstep) ,{icont(40),ipback) , {icont{44),npb)
. (icont (48) ,mdat5)
, {recont{ 1) ,tstart) , {(reont{ 2),teij) , {rcont{ 3), tesp)
, {rcont({ 4),tegs)  {rcont{ 5}, tepr)
Arijet{14),4t11) ,rijct(26), pexb)

option £ile(10)
option file(1l1l}
option file(12)
option file(13)
option file(i4)
option file(15H)

logical abc,isst

real*8 timel3,dtl3,rgstd,fftime

real*8 trd

real*8 dtl3a,dtl3b,dtilc,ttl3a,ttl3b

- swacl3e version -------

real*8 estage,maxdt,mindt,pold,mhold, msold,tlast,deltm,dtmin
dimension nout{l0},id(25)

- swacl3e version -------

dimension tlast(5},deltm(5),dtmin(5),nplt({5),nprt(5)

common /cont/ icont{60),rcont{100), tcont(20)
common /iject/ iijet{100),riject( 500),tijct(20)
common /inp / iispb{300),rispb(1000),tispb(20)

common/gstd/ igstd(1100),rgstd(5500),tgstd{20)
common/time/ timel3,trd(3)},rindex,rsg(3},idm(3},ncg(3,5)

common/apx/ dt,tt,npage, tlevel (5}),qqrd(10},istep,kj(20),vrd(10)
common/iflag/ iflgl7
common /iplj/ ggl.gg?,rgg
commen /leak/ rleak, tleak,rleaku,rleakd
common/ limit/ mbrku,mbrkd,timell,i2,idum,dumll(3), 11dum
commorn /bub/ dumb7(8) ,ppb(2)
- swacl3e vergion -------
commen /autdt/ iplt,iprt,indt, lplot, lprint, idummy,
estage, maxdt, mindt,pold{40),mhold{40) ,msold (40)
--- restart —-—ee———o
common /rest/ imm, i ff
common /logic/ abc
common /endend/ isend

equivalence (iispb(272},modbub)

equivalence (rgstd(3262),dtl3)

equivalence (rgstd(3265),dtl3a), (rgstd(3266),dt13b),
{rgstd(3267)}),dtl3c)

equivalence (rgstd{3268),ttl3a), (rgstd(3269),ttl3b)

equivalence (igstd(903),icdtl3)

- swacl3e version --———-

equivalence (rqgstd(4310), tlast), (rgstd{4315),deltm),
(rgstd(4320),dtmin)

equivalence (igstd(1045),nplt), (igstd(1050),nprt)

- restart ------

equivalence {(icont(60),ireno)

00031550
00031560
00031570
00031580
00031590
00031600
00031610
00031620
00031630
00031640
00031650
00031660
00031670
00031680
00031690
00031700
00031710
00031720
00031730
00031740
00031750
00031760
00031770
00031780
00031790
00031800
00031810
00031820
00031830
00031840
00031850
00031860
00031870
00031880
00031890
00031900
00031910
00031920
00031930
00031940
00031950
00031960
000631970
00031940
00031980
00031990
00032000
00032010
00032020
00032030
00032040
00032050
00032060
00032070
00032080
000320890
00032100
00032110
00032120
00032130
00032140
00032150
00032160
00032170
00032180
00032130



c —————————————————————
C
Lo ittt b bl dety for facom m-190 --—-—------—-----
cxx  call errset(214,256,-1)
C-—---- converted for fortran77ex —-—-------ssomm e
cyos call errset ( 256,999,-1,0,1,256 )
S m o o
cham --- '96.02.28
open( 5,file='PFT05',status="0ld")
open( 6,file='FT06’,status=’'unknown’)
c open( 9,file='FT09%’,status='unknown’, form='unformatted’)
c open{l0,£file='FTi0’,status="unknown’, form="unformatted )
c open(l3,file='FT13’,status="unknown’, form='unformatted’)

open (14, file='FT14’, status='unknown’, form=‘unformatted’)
open(30,file='FT30’, status='unknown’, form='unformatted’)
cham --- end

c —————————————————————————————————————————————————————————————————————
iflg07=0
ggl =0
gg2 = 0
rgg = 0.0
nll = 1
n57 = 1
mparam = 1
i2 = 0
istep = 0
c
o] **% print front page of swacg-iv ***
c
call front
c
c
c
c *** control data input ***
c
call readin(1)
C
c *** data input and intial condition set up ***
C
if(jijet .ne. 0) call input
c
if(jispb .eg. 1) ecall tinput
if { jispb.eg.l) diopth7 =1
c
c
if ( jispb.eqg.0 .and. jijct.eqg.0 ) go to 200
C
c **%% transient calcuration start *+**
C
c
time=tstart
tt = tstart
if { jiject.eqg.l) timell = tstart
if{jijct.eq.2) time=timell
if ( jijet .eqg. 0) go to 5
call tdetm({ deltat , nll , n57 }
mparam = 1
nmax = max0(nll , n%7 )
5 continue
c
do 1000 n = 1,nstep
c
o] *** water ijection transient ***
C

if(jiject .eq. 0) go to 10
if { mparam.eq.l } go te 11

00032200
00032210
000322290
00032230
00032240
00032241
00032250

00032250
00032260
00032270
00032280
00032290
00032300
00032310
00032320
00032330
00032340
00032350
00032360
00032370
00032380
00032390
00032400
00032410

. 00032420

00032430
00032440
00032450
00032460
00032470
00032480
00032490
00032500
00032510
00032520
00032530
00032540
00032550
00032560
00032570
00032580
00032590
00032600
0032610
00032620
00032630
00032640
00032650
00032660
00032670
00032680
00032690
00032700
00032710
00032720
00032730
00032740



naoaaan 0
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000N
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C
(o]

11

10

*

21

20

*

26
27

28

30

40

1000

*

. modification for swac-57p version.

if{({nll-mparam).ge.0) go to 10
call outp{iz2, 1)
call outp{i2,2)
12 iz + 1
call swcll
ggl = rleaku
gg2 = rleakd
rgg = rleak
time
timell= timell + dble(dtll)
continue

** initial pressure transient ***

if(jispb .eqg. 0) go to 20

if ( mparam.eg.l ) go to 21

if (({n57- mparam).ge.0) go to 20
call outp( istep,3)

istep=istep+l

call swach7

if{iflg07.eg.l) tesgp=time
if(iflg07.eg.1l.and.modbub.eqg.0}) tesp = time

if ( ipback.eg.0) pexb = ppb(l)
istep=istep+l

if ( jispb.eg.l ) mdath = istep
tt = tt + dble(dt)

continue

*% time mesh determining ***

if ( jijct.eg.0 .and. jispb.eg.l )} go to 26
time = time + dble( deltat )

mparam = mparam + 1

if({ nmax .ge. mparam } go to 27

call tdetm { deltat , nll , n57 )

mparam = 1

nmax = max0{ nll , nb57 }

go to 27

time = ¢tt
continue

continue

if(teij .ge. time) go to 30
jijet = 0

nmparam = 1 -

if(tesp .ge. time) go to 40

jispb = 0

mparam = 1

nmax = 1

continue

if (jijct.eq.0 .and. jispb.eqg.0 ) go to 200
continue

** guasi stedy pressur transient ***

D-5

by o.m. jun 1982

.....

00032750
00032760
00032770
00032780
00032790
00032800
00032810
00032820
00032830
00032840
00032850
00032860
00032870
00032880
00032890
00032900
00032910
00032920
00032930
00032540
00032950
00032960
00032970
00032980
00032990
00033000
00033010
00033020
00033030
00033040
00033050
00033060
00033070
00033080
00033090
00033100
00033110
00033120
00033130
00033140
00033150
00033160
00033170
00033180
00033190
00033200
00033210
00033220
00033230
00033240
00033250
00033260
00033270
00033280
00033290
00033300
00033310
00033320
00033330
00033340
00033350
00033360
00033370
00033380
00033390
00033400



200

e

203

205

210

if{jgstd .eq. 0) go to 400

.istep = 0
if ( jgstd .ne. 2 ) istep=0
abc = ,Ltrue,

imm =1

igst =1

iff =0

isend = 0

isst = .true.

call ginput({istep)

indt =0

lprint = 1

lplot =1

if { jgstd.ne.2 .or. icdtl3.ne.2 ) go to 203

if { timell3 .ge. tlast{l) ) write(6,3000) timel3,tlast(l)
if ( timelld .ge. tlast{l} ) stop

if { jgstd .ne. 2 ) timel3=tstart

if { Jgstd .eq. 2 ) inde=1

if { jgstd .eq. 2 ) go to 205

if { iedtlld .eq. 1 ) dtl3=dtl3a

if { icdtl3 .eq. 1 ) imm=1

if ( icdtlld .eq. 2 ) dtlld=dtmin(l}

continue

do 300n= 1 , jstep

nndt = indt

iff =0

if { {icdtl3.eq.l) .and. (imm.ne.,igst) } 4i£f=1
if ( (dicdtl3.eq.l) .and. (imm.lt.igst} ) imm=igst
if ( (icdtl3.eq.2) .and. (imm.ne.indt) } iff=1
if { (icdtl3.eq.2) .and. (imm.lt.indt) } dimm=indt
call outp( istep , 4 )

call finddt

fftime = timel3 + dtl3

if ( fftime .ge. tegs ) isst=.false.

if ( {(icdtl3.eqg.2) .and. {fftime.gt.tegs) )

& dtl3=dtl3-{fftime-teqgs)
if ( (icdtl3.ne.2) .and. (fftime.gt.tegs) ) go to 310
timelld = timel3 + Atl3
deltim = d4tl3
istep = istep + 1
call swacl3
abe=. false.
if( icdtl3 .eqg. 0 ) go to 250
if{ icdtl3 .eq. 2 ) go to 210
dtli=dtl3a
igst=1
if ( timelld .ge. ttl3a ) dtl3=dtl3b
if ( timel3 .ge. ttll3a ) igst=2
if ( timell3 .ge. ttl3b )} dtl3=4tl3c
if ( timeld .ge. ttl3b ) igst=3
go to 250
if { indt .eqg. 1 ) go to 220
if ( indt .eqg. nndt ) go to 250
if ( indt .ge. 6 ) imm=indt-1
if ( indt .ge. 6 ) istep=istep+l
if ( indt .ge. 8 ) go to 310
if ({ (tlast(indt)-tlast{indt-1)} .le. 0.0 ) imm=indc-1
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00033410
00033420
00033430
00033440
00033450
00033460
00033470
00033480
00033490
00033500
00033510
00033520
00033530
00033540
00033550
00033560
00033570
00033580
00033590
00033600
00033610
00033620
00033630
00033640
00033650
00033660
00033670
00033680
00033690
00033700
00033710
00033720
00033730
00033740
00033750
00033760
00033770
00033780
00033790
00033800
00033810
00033820
00033830
00033840
00033850
00033860
00033860
00033870
00033880
00033890
00033900
00033910
00033920
00033930
00033940
00033950
00033960
00033970
00033980
00033990
00034000
00034010
00034020
00034030
00034040
00034050



if ( (tlast{indt)-tlast({indt-1}) .le. 0.0 )} istep=istep+l 00034060
if ( (tlast{indt)-tlast(indt-1)) .le. 0.0 } go to 310 00034070
220 egtage = tlast({indt) 00034080
maxdt = deltm(indt) 00034090
mindt = dtmin(indt} 00034100
iplt = nplt (indt) 000341190
iprt = nprt {(indt) 00034120
250 continue 00034130
C : 00034140
if ( isst ) go to 300 00034150
310 isend=1 00034160
if ( icont({52) .eqg. 1) call tapel3{istep) 00034170
if { iedtl3 .eg. 2 ) call timout(istep) 00034180
call output{istep) 00034190
go to 350 00034200
300 continue 00034210
350 if (jgstd.eg.2 .and. ireno.gt.0 .and. icont(52).eq.l) 00034220
* call replot(ireno) ‘ 00034230
c 00034240
600 format(lhl,l10x, ' *** ¢ 20ad,’ ***://) 00034250
601 format(lh , 12g11.4) 00034260
c 00034270
¢ *** initial spike pressure propagation in the secondary system **# 00034280
c : 00034290
400 if (jispb2.eqg.0) go to 800 00034300
c zero clear 00034310
do 410 n = 1 , 300 00034320
410 iispbin) = 0 00034330
do 420 n = 1 , 1000 00034340
420 rigpbin) = 0.0 00034350
c 00034360
istep = 0 00034370
tt = tstart 00034380
c 00034390
call tinput 00034400
c ' 00034410
do 700 n = 1., kstep 00034420
call outp{ istep , 5 ) 00034430
istep=istep+l 00034440
c 00034450
call swach57 00034460
c 00034470
c istep=istep+l 00034480
tt = £t + dble(dt) 00034490
c 00034500
if ( tepr.lt.tt } go to 80O 00034510
c 00034520
700 continue ' 00034530
c 00034540
c 00034550
o] 00034560
800 c¢all makemt 00034570
3000 format(lhl, --- ipput error ---',/ 00034580
& 5x,' old timel3 :¢,dl2.5,/ 00034590
& 5%, ' new time control first end-time(tlast(l}) :‘, 00034600
& ,dl2.5) 00034610
cham --- 796,02.28
close(30)
close(l4)
c close(l13)
C ¢close(10)
c close{ 9)
close( 6)
close( 5)
cham --- end

c
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stop 00034620
end 00034630
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cyos

subroutine varcal
implicit integer ( a - z )

e ke e e e kihonryo keisan FEKEKNK
input.

rindex rapchar-disk hadanshunkan no shihyo
real*8 t , trd

common /time/t,trd(3),rindex,rsg(3),idm(3},ncg{3,5)
call tusave
call wcal
call wshcal
call velcal’
call wndcal
call mvecal
call cgcal
call rvpcal
call energ
call eosl3ia
call rlcal
call loscal
call pscal

call rundec
if{rindex.eq.l) go to 1
call eosl3b

return

end

00113260
00113270
00113280
00113290
00113300
00113310
00113320
00113330
001133490
00113350
00113360
00113370
00113280
00113390
00113400
00113410
00113420
00113430
00113440
00113450
00113460
00113470
00113480

00113510

001134980
00113500
00113510
00113520
00113530
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00068350

* &k output calculational results at time ‘Lf *x*x 00068360
00068370
output. 00068380
wik) mixture mass mass flow rate 00068390
ws{k) sodium mass flow rate 00068400
wh (k) hydrogen mass flow rate 00068410
voidl({k) woid fraction of link k 00068420
runl (k) running index of link k 00068430
pli) pressure 00068440
r{i) mixture density 00068450
rh(i) hydrogen density 00068460
vhii) hydrgen volume 00068470
vs(i) sodium volume 00068480
mh (i) hydrogen mass 00068490
ms (i) sodium mass 00068500
void{i) void fraction on node i 00068510
runni{i) running index of node i 00068520
subroutine output{istep) 00068530
implicit integer{a-z) 00068540
00068550
logical abc 00068560
00068570
real*8 a , b 00068580
real*§ rconst , grav , gravc 00068590
;, btsimul , dt , alphaw , ts 00068600
, s . mius , patm , mcg 00068610
, miuh ., th , Fw , 8 00068620
, prd . v . lnode .1 00068630
;i d ., hnode , dnode , hinit 00068640
, kappa , a2node , a2link , m 00068650
, beta ., lpd . ezl ., cz2 00068660
, cz3 , czd , £ , dfdw 00068670
, as , ah , C8 , ch 00068680
, dfdmsi , dfdmhi , dfdmsj , dfdmhj 00068690
real * 8 . z . C 00068700
, t , trd , W ., wbhar 00068710
, dw , WS , wh , closs 00068720
, deltp , voidl , P , T 00068730
. rh , vh , Vs , veg 00068740
, ms , mh , void , X 00068750
Py ¢ g 00068760
,np yhsurf ,8C s v 00068770
, £t ,print ,beint . reg 00068780
,ncoil , zeth , T . theta 00068790
,leg 00068800
, rl , rhv , Ths , solvl 00068810
, water , wat 00068820
real*8 rgstd lpcoil ,deoil ,africt 00068830
real*8 veloss ;velosh ,velos 00068840
real*8 allink 00068850
real*8 mrptot, ce,
¢rna, mcrwal, mcrna, mdtot,
msol, terwal, td
real*8 wi , fmf ,avt ,veln
real*8 mndk, fcrd, ssa , svmu
——————————————————————————————————————————————————— swacl3e version ---00068860
real*g tempi , treac , troom , gamh2 00068870
, epsi , Sigma , cmet , cdrag 00068880
, nbub ., voidal , wvoida2 , voida3 00068890
, lncoil , cht . hgle , hgme 00068900
, hlmec , hmoc ; Kmet ;, lmet 00068910
, ami , amo , mmet , dmet 00068920
real*8 agls , devrl . hgas , hlig 00068930
, igas , ilig , kgas , klig 00068940
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2 ., miugas , miulig , prgas ., prliqg 00068950
3 , ggas ., glig . et ., rbub 00068960
4 , tgas , tlig ., tmet, tmbar, ugbar, ulbar 00068970
S , ugas , ulig , velrl , warh 00068980
6 , wars ., wnd , whnd . wsnd 000689850
real*8 gl , agmx r dglx . gmax 00069000
real*§ pth , rth , f£l , fpr 00069010
1 , Ethr(55) 00069020
real*s hemix , temix 00069030
—————————————————————————————————————————————————————————————————————— 00069040
dimension nnodec (3} ,nodecg(3) ,nodec(5,3),1inkd{20), inode(55), 00069050
1 tnode(55),1inkh(20),1inkz (30),nz(55) Llinkb(20), 00069060
2 nbend(55), znumb {10, 55) ;nodew(10) 00065070
00069080

dimension lcg(40) ,hnode{40),dnode(40},1lnode(40),d(10,55) , 00069090
1 1(10¢,55) ,theta(10,55) ,2etb (10, 55) , 00069100
2 rr(l10,55) ,ncoil({55),pcint(3) ,prd(4) ,w{55} , 00069110
3 £t (40) ,m(3) , Ew(40) ,EE(40) LWt (40) , 00069120
4 s{55) Lev(20) valp(20) 00069130
dimension allink(10,55) 00069140
——————————————————————————————————————————————————— swaclle version ---00069150
dimension ialink{55}), inmmt (40), tempi (40),cht(18) ,lmet(40), 00069160
1 ami(40},amo (40),mmet {40), dmet (40) 00069170
——————————————————————————————————————————————————————————————————————— 00069180
——————— restart -—----- 00069150
dimension iorest(5) 00069200
common /rest/ imm,iff 00069210
common /logic/ abe 00069220
‘common /endend/ isend 00069230
—————————————————————— 00069240
00069250

commonn /simul/ mius ,mcg(3) ;miuh{40) ,th{40) , s , 00069260
1 g(40) ,xreg(3) 00069270
00069280

common /netwrk/ linkrl(3,10),linkeg(3,5), 00069290
1 linkw(5) ,linkcr ,seti(40,10) ,5ett(40,10),00069300
2 nlinkr(3),npath{3} ,nlinkw ngeti (40) ,nsett (40) 00069310
00069320

common.  /geomet/ v(40) ckappa(55) ,a2node {40}, 00069330
1 a2link(55,10) beta ,Apd(55) ,czl(3} , 00069340
2 cz2(55,10) ,c2z3{55,10) ,czd(55,10), 00069350
3 hinit {40) 00069360
0069370

common/gstd/ igstd{1100),rqgstd(5500), tgstd(20) 00069380
common /rlnk / xl(55) ; rhs(55) 00069390
C OImoT /run / rTunl (55) , runn (40) , pdet (40) 00069400
commorn /matrix/ £ {(55) ", dfdw (55) , as {(55) 00069410
* ,an (55) . cs (40} , ch {(40) 00069420
* ,dfdmsi (55) , dfdmhi (55) , dfdmsj (55) 00069430
* ,dfdmhj (55) , a {55,55) , 2z (55) 00069440
* (shiftw (55) , mmaxw . b (40,40) 00069450
* ;o (40) , shiftp (40) , mmaxp 00069460
COnmmon /time / t ., trd (3) ., rindex 00069470
* ,rsg {3) , didm (3) , ncg (3,5) 0069480
conmon  /state / wbar (55) , dw (55) 00069490
* WS {55} , wh (55} , closs (55} 00069500
* ;deltp (55) , wvoidl (55) ., »p (40) 00069510
* T (40) ; rh (40) , Vvh (40) 00069520
* , VS (40) , wveg (40} , ms (40} 00069530
* ,h- {40) , void (40) ;s X {40) 00069540
* Ph's (55) , sve(40) 00069550
commeon/vell3d/  wveloss(55),velosh(55),velos(55) 00069560
————————————————————————————————————————————————— swacl3e version ---00069570
common /simul/ meg(3) ,  qf40) , rcg(3) 00069580
common /gspnew / agls(40) , devrl(55) , hgas{40) 00069590
1 ,hlig(40) , digas (40} . 1lig(40) 00069600
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2 kgas (40} , klig(40) , Tniugas(40) 00069610
3 (miulig(40) , prgas(40) . prlig{40) 00069620
4 ,ggas (40) . qlig(40) ,  qmet (40} 00069630
5 , rbub (40) , rs{40) , tgas(40) 00069640
6 ,Elig(40) ,  tmet (40} , ugas{40) 00069650
7 ,ulig(40) , velrl{55} ,  warh(40) 00069660
8 ,wars (40) . wnd(40) . whnd(40) 00069670
9 ,wsnd (40) , tmbar{40) ., ugbar(40) 00069680
a (ulbar(40) 00069690
common /ychk13/ ichoke (55) 00069700
common /gsvl3/ glmx{40) , goamx (40) . qglx(40) 00069710
1 ,gmax (40) 00069720
common /eftout/ hemix(40) . temix(40) 00069730
O e e e e e —— - —— 00069740
c 00069750
¢--- valiable of react.f --
common /reacpr/ mrptot{40}, cc (40},
2 crna(40), mcrwal (40}, mcrna(40), mdtot (40),
3 msol (40), tcrwal(40), td(40)
common /fcstate/ wE£(55) ,EfmE {40} ,svi(40) ,veln(55)
common /partic/ mndk(40,10), £fcxrd(l0), ssa (40}, svmu(40)
C
et e e e e — 00069740
equivalence (nsg Jigstd{ 1) ), {nnode ,igstd( 2)), 00069760
1 ({(nlink ,igstd{ 3) )}, (nodert,igstd( 4} ), {nnodec,igstd( 5) ), 00069770
2 ({(nodecg,igstd{ 8) )}, (nodec ,igstd{ 11} ), {nlinkd, igstd{ 26) ), 000693780
3 (linkd ,igstd( 27) )}, (inode ,igstd{ 47} ), (tnode ,igstd(102) ), 00069790
4 (nlinkh,igstd(157) }, (nlinkz,igstd(158) ), {(nlinkb,igstd(159}) ), 00069800
5 (linkh ,igstd(160) )}, (linkz ,igstd(180) ), (nz igstd{210) ), 00069810
6 (linkb ,igstd(265) ), (nbend ,igstd(285) ), (zonumb ,igstd{(340) ), 00069820
7 (nnodew,igstd(890) ), (nodew ,igetd(891) )}, (nwtr ,igstd(901} ), 00069830
8 (nvoid ,igstd{902) ) 00069840
equivalence {(leg crgstd( 1)), {solvl ,rgstd( 41)), 00069850
1 (lpcoil,rgstd( 42)),(dcoil ,rgstd( 43)),(hnode ,rgstd({ 44)), 00069860
2 (dnode ,rgstd{ 84)), (Inode ,rgstd( 124)},(d Jrgstd( 164)), 00089870
3 {1 +rgstd{ 714)), (theta ,rgstd{l264)), (zetb ,rgstd(1814)}, 00069880
4 |rr crastd(2364) ), {(ncoil ,rgstd(2914)), (pcint ,rgstd(2969)), 00069890
5 (print ,rgstd(2972)), {(patm ,rgstd(2973}), (prd ,rgstd(2974)), 00069900
6 (ts ,rgstd(2978) ), (w ,rastd{(2979)}, (ft L, rastd(3034)), 00069910
7 {m Lrgstd{3074) ), (sc ,rgstd(3077)), (1v yrastd(3078)), 00069920
8 ({alphaw,rgstd(3079}), {(hsurf ,rgstd(3080)), (fw ,rgstd{3081)), 00069930
9 {tt L rastd(3121)}, {(wtr ,rastd{3141)), (nfrict, rgstd{3161)), 00069940
a (s L rastd(3162) ), (tv Lrgstd{3217)), (valp ,rgstd(3237)), 00069950
b (rconst,rgstd(3257}), (grav ,rgstd(3258)), (grave ,rgstd(3259)), 00069960
¢ (np ,rastd (3260} ), (tsimul, rgstd(3261}), (dt ,rgstd{3262})), 00069970
d (tstdb ,rgstd(3263})), {tendb ,rgstd(3264)), {allink,rgstd{3311}) 00069980
Lo i atatatatadate T swacl3e version ---000699%90
equivalence ) 00070000
1 (idrif ,igstd( 904)), (iftube,igstd( 9205}), (ihglc ,igstd( 906)), 00070010
2 {ihgmc ,igstd({ 907)}, {ihlmc ,igstd({ 908}), (ilmoc ,igstd( 909)), 00070020
3 (ialink,igstd( 911)}, (inmmt ,igstd(1001}) 00070030
equivalence 00070040
1 (tempi ,rgstd{4001)), (treac ,xrgstd(4041}), (troom ,rgstd(4042)), 00070050
2 (gamh2 ,rgstd{4043)), (epsi ,rgstd(4044)), (sigma ,xrystd(4045)), 00070060
3 (cmet ,rgstd(4046)), (cdrag .rgstd(4047)), (nbub ,rgstd(4048)), 00070070
4 (voidal,rgstd{(4049)), (veoida2,rqgstd(4050)), (voida3, rgstd(4051)), 00070080
5 [(lncoil,rgstd(4052)), (hgle ,rgstd(4053)), (hgme ,rgstd(4054)), 00070090
6 [(hlme ,rgstd(4055)), (hmoc ,rqgstd(4056)), (kmet ,rgstd(4057)), 00070100
7 {cht L rastd{4061)), (Imet ,rqgstd(4101)), (ami Lrastd(4141)), 00070110
8 {amo rgstd{4181) ), (mmet ,rgstd(4221)), (dmet ,rgstd(4261)) 00070120
e e T T T et e e 00070130
Come e restart -------- 00070140
equivalence (iorest,igstd(1055)), (icdtl3,igstd(903)}) 00070150
e e 00070160
c 00070170
wat = water{t) 00070180
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if(istep.lt.0) go to 10 00070190
write(6,10015) t,wat,istep 00070200
go to 30 00070210
10 if(istep.eg.-4) go to 20 00070220
write(6,10016) t,wat,istep 00070230
go to 30 00070240

20 write({6,10017) t,wat,tcrbst 00070250
¢ 20 write(6,10017) t,wat 00070250
30 continue 00070260
c 00070270
¢--- calculate thrust force for links ~——————-—mmm - 00070280
o) 00070290
do 40 k=1,nlink 00070300
fthr(k) = 0. 00070310
if(runl(k).eq.0) go to 40 00070320
pth = (p(inode (k) )+p(tnode(k)}}) /2. 00070330
rth = {r(inode{k))+r({tnode(k))}/2. 00070340
ik = ialink({k) 00070350
ffl = rth* (velos(k)**2}*allink(ik, k) /grav 00070360
fpr = (pth-patm)*allink{ik, k) 00070370
fthr(k) = ffl+fpr 00070380
40 continue 00070390
c 00070400
o e e e e e e e 00070410
c 00070420
if { abc )} nstep=0 00070430
if ( istep .ge. 1 ) nstep=nstep+l 00070440
c write(6,10020} Q0070450
G o e e e e 00070410
write (6,1000}) 00070460
c 00070470
1000 format (1h0,6x,'-—- link ---*,/// 00070480
& Bk, 'k’ ,8x,'w’,11x,'ws’,11lx, 'wh’, 10x, ‘vel’, 00070490
& 10x, 'vels’, 9%, ‘velh’, 9%, ‘velrl’,8x, ‘thrust’, éx, 'runl’, 00070500
& 2x, "ichoke’ // 00070510
& Sx,3{('{ kg/sec )',2x),4('{ m/sec }',2x), 00070520
& ‘{ kg 1/ 00070530
c 00070540
write (6,1100) (k,w{k),ws{k),wh(k},velos(k),veloss(k), 00070550
& velosh(k),velrl({k),fthr{k),runl(k), ichoke(k)},k=1,nlink) 00070560
1100 format ({4x,i2,3x,8{ell.4,2x),4x,il,6x,11)) 00070570
O m 00070410
o 00070580
write (6,1400) t 00070590
1400 format (lhl//,8x,’'time = /,£8.3,2x, ' (sec)’'///6x,’' --- node ---7,///00070600
& Sx,’'i’,8x%x,'p’,12x, 'y’ ,1lx, 'rs’,11x, 'xvh’ ,11x, 'vs", 00070610
& 11x, 'vh,11x, *void’, 9%, 'ms’,11x, 'mh’, 6x, 'pdet’// 00070620
& 9x, ' { kgw/m**2)/ ,3(2x, ' { kg/m**3 }'}, 00070630
& 2(2x,'({ m**3 Y1), 2x, 1| - 1, 00070640
& 2(2x, ' { kg 190 00070650
write (6,1500) (i,p{i),r(i),rs{i).xh{i),vs{i},vh(i), 00070660
& void(i),mg (1), mh(i),pdet(i},i=1,nnode} 00070670
1500 format ((4x,1i2,1x,9(2x,ell.4},4x,1il)) 00070680
o o e  — ————_——————— e ——— 00070410
c 00070690
C mrrrrmme e e modified by yv.k. on 10/25 --=--rrrmmremmee e 00070710
write (6,1200) t 00070700
¢l200 format (lhl//,6x,’'time = ’',£8.3,2x,'(sec)’///6X,'--- node —---',///00070720
c & 5x,'i',8%,'is’,1lx,ih’,11x, 'ts’,11lx, 'th',11x, "tm’, 00070730
c & 10x, ‘qggl’,10x, "qgogm’',10x, ‘glm’,10x, ‘ama’, 8x, ‘runn’// 00070740
(o} & 9%,2('{ keal/kg )/,.2x),3('({ ¢ : deg.)’,2x), 00070750
c & 4("( kcal/sec)’.,2x}/) 00070760
¢ write (6,1300) (i,ilig{(i),igas{i),tlig(i), tgas(i},tmet(i}), 00070770
c & golx({i}, gogmx (i), glmx{i}, gmax (i), runn{i), 00070780
c & i=}1,nnode) 00070790
cl300 format ((4x,12,3%,9(ell.4,2x),4x,i1}} 00070800
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1200

format (1hl//,6x, 'time = *,£8.3,2x,"(sec)’///6x, ' --- node ---—',/}//
4x,’'4i’,6x,'is’,8x,'ih’',8x, 'ts’,8x, 'th’,8x, ‘tm’,8x, ‘te’,
B8x, 'he’,9x, 'qgl’,10x, ‘gom’,10x, ‘glm’,10x, ‘gma’, 4x, ‘runn’//

i

2

3 Tx,2{' (keal/kg) ' ,1x),4('( c:deg.)’,1x),3x, 'kcal’, 3x,
4

b

1600
1
2

1
1700

1800
1
2

1
1200

Q

4('{ kecal/sec)’,2x)/,66x%, ‘m2*sec*c:deg’, /)
write (6,1300) (i,ilig{i},igas({i),tliq(i},tgas(i),tmet (i},
temix (i), hemix (i) ,gglx (i), gogmx (i), glmx{i), amax (i),
runn(i}, i=1,nnode)
format ((3x,12,3x,6(£7.1,3x},5({ell.4,1x),2x,1i1)}

——————————————————— modified by y.k. on 10/25 —-com—mmmmmmm
write (6,1600) t
format (1hi//,8x, time = ’,£8.3,2x,'(sec)’///6X,'~-- node -——7',///
4x,'i’,7x, 'mrptot’,7x,* mcrna‘,7x, ‘'mcrwal’,
7x, ' mdtot’,7x,’ msol ’,/)
write (6,1700) (i, mrptot(i),mcrna(i),mcrwal (i), mdtot(i},
msol{i),i=1,nnode)
format ((4x,i2,1x,5(2x,e11.4}))

——————————————————— modified by yv.k. on 10/25 ~————mmmmmm o _

write (6,1800) t

format (1hl//,8x,’'time = ‘/,£f8.3,2x%,'(sec)’///6x,'~—- node —-—-—=*,///
dx, i’ ,7x,"' cc ',I%," crna ‘,7x,' ssa ',

%, 'terwal’,7x,’ td *,7x,’ veln *,7x,’ svmu ',/)
write (6,1900) (i,cc{i),crnali),ssali),tcrwal (i},
td(i),veln(i),svma(i), i=1,nnode)
format ((4dx,i2,1x,7(2x,ell.4))}

if ( icdtl3 .eq. 0 )  imm=1
if ( iedtlld .eq. 0 ) 1ff=0

ireout = 0

if ( nstep .eq. iorest{imm) ) ireout=1

if { nstep .eq. iorest(imm) ) nstep=0

if istep .eqg. 0 ) ireout=1

if iff .eq. 1 ) ireout=1

if iff .eg. 1) nstep=0

if abc ) ireout=1

if ireout .eg. 1 ) call resave(istep)
if ireout.ne.l .and. isend.eq.l } call resave(istep)

nlink kumi write
do 100 k = 1,nlink

write(6,10030) k,w(k},ws{k}),wh(k),voidl(k},velos(k},

*

100

veloss{k),velosh(k), runl (k)
continue
write(6,10040)

nnode kumi write
do 200 1 = 1,nnode
if{veid(i).eq.0.0) go to 1

write(6,10050) i,p(i),r{i),rh{i),vh(i),vs(i),mh(i}, ms(i),

*

void (i), runn (i), pdet (i)
go to 200

1 write(6,10051) i,p(i),r(i),vhi{i},vs(i) , mh({i) ms(i),

*

200

void(i),runn (i} ,pdet (i)

continue

do 300 i=1,nnode

if (p{i).le.0.0) call errl3(6)

if ((vh{(i).1t.0.0).0r. (mh(i).1t.0.0}) call errl3{7)

if ((vs({i).1lt.0.0).0x.(ms(i).1t.0.0)) call errl3(7)

if ({void(i).1t.0.0).or.{void{i}.gt.1.0)) call errl3(8)
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00070810
00070820
00070830
00070840
00070850
00070860
00070870
00070880
00070890
00070900
00070410
00070620
00070710
00070700
00070820
00070830
00070830
00070870
00070890
00070680
00070410

00070710
00070700
00070820
00070830
00070830
00070870
00070890
00070680
00070410

00070910
00070920
00070930
00070940
000670850
000705960
00070870
00070280
00070990
00071000
00071010
00071020
00071030
00071040
00071050
00071060
00071070
00071080
000710890
00071100
00071110
00071120
00071130
00071140
00071150
00071160
00071170
00071180
00071190
00071200
00071210
00071220
00071230
00071240



300 continue
do 400 k=1,nlink
c if {(voidl(k).1lt.0.0).or.(voidl{k).gt.1.0)) call erxl3 {9}
400 continue
return
10010 format {(1hl/,1h0,7x,‘time r,E8.3//)
10015 format{ihl//,1h0,7x, ‘time +,£8.3," (sec)’,
* 15x%, 'water = ’/,£8.4,' {kg/s)’,37x,’{ istep =",1i6,"' )Y'//)
10016 format(lhl//,1h0,7x, 'time = ’,£8.3," (sec)’
* 15x, ‘'water = ,£8.4," (kg/s)’',37x,
* '{ r/d sg’,12,' burst )'//)
10017 format{lhl//,1lh0,7x,'time = ’,£8.3," (sec}’,
* 15%, ‘water = *,£8.4,’ (kag/s}’,37x,
* '{ r/d rpt burst )'/’'torbat=’,el10.5//)
c * ‘{ r/d rpt burst )'//)

c0020 format(lh ,1lx,'k’,.5x,'w’,1lx,'ws’,10x, 'wh’,10x, *voidl’ ,7x, 'u’,

c * 11lx, ‘us’,10x, 'uh’,11lx, ‘runl‘ /)

10030 format{lh ,8x,i4,2x,7el2.4,4x,1i4)

10040 format(//lh LL1x, 1,5, 'p’',11%x, 'r’,11x, 'rh', 10x, 'vh,10x,'vs"’
* 10x, ‘mh',10x, 'ms’,10x, * v01d',9x, runn’,4dx, ‘pdet’/)

10050 format({lh ,8x,i4,2x,8e12.4,4x,i4,4x,i4)

10051 format{lh ,8x,14,2x,2el12.4,12%,5e12.4,4x,1i4, 4x,14)

c
end
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subroutine react
c*'k*********************************************************************
c REACT version 1.0 --- reaction products behavior *
o] --- reaction products behavior control module --- *
c reaction partical Mar. 1996:artech.co *
c*********************************************'k****************'k***‘k***'k
C
c implicit real*8 (m)

real*8 v,t,finter,wftot, tr

real*B mndk, ferd, ssa, svmu

real*8 g, cd, crnad , so0, a

integer k,n,kc,link(2,55),nnodew,nrt(lO)
integer jeon(5,2,40) ,icount ,jmax ;aw  ,nd

c dimension igstd (1100} , rgstd(5500) , tgstd(20)
dimension cd(40) , crnad(40) , s0(2,20), a{40)
c dimension mndk (40,10), fcrd(1l0), ssa(40), svmu(40)

common /link0/ link(2,55)

common /tim0/ deltim

common /cont/ icont{60), roeont (100}, tcont(20)
common /astd/ iqstd{1100) , rgstd(5500) , tgstd(20)
common /partic/ mndk{40,10}, ferd(10), ssal{d40), svmu(40)

equivalence {(rcont (1), t)

equivalence {igstd(1l),k), (igstd(2),n), (igstd(3),kec)
1 . {igstd (890}, nnodew)

2 {igstd(891) ,nre(l))

1 , (igstd(47),1ink(1,1)) , (igstd(102)},1link(2,1))

real*8 rgstd

real*§ Inode, 4, tf, fcr, thtan, acr,

2 vd, mlp, ad, sdk, soc, cor, rownao, sk
real*8 mrptot, c¢c, crna, mcrwal, mcerna, mdtot,
4 msol, terwal, td

dimension lnode{40), 4(40), tf£(40), fcr(lo),

1 thtan(40), acr (40},

2 vd (40}, mlp(40), ad{40}), sdk(10),

3 soc(2,20,5), cr, rownao, sk

dimension mrptot (40}, cc{40),

4 crna(40), mcrwal{40), mcrna(40}, mdtot (40),
5 msol (40), tcrwal(40), td(40)

common /reacpr/ mrptot(40), cc(40),
2 crna(40), mcrwal (40), mcrna(40), mdtet (40),
3 msol (40), terwal (40), td{40)

equivalence
(rgstd (084),d {1))
(rgstd (124),1lnode (1)}
{rgstd (4001} ,tL (i
equivalence
(rastd(4400), fer {1)) ,{rgstd(4410},thtan (1))
, {rastd (4450) ,acr {1}) , {rgstd(4490},vd {1))
. (rgstd(4530) ,mlp (1)) ,{rgstd(4570},ad (1))
. (rgstd(4610),sdk (1))
(rgetd(4620),s0c{1,1,1)} , (rgstd(4820),cr)
, (rgstd(4821},rownao) . (rgstd(4822), sk}
equivalence
7 {rgstd (4830}, mrptot (1)} , (rgstd(4870),cc (1))
8 Argstd(4910) ,crna (1)) , (rgstd(4950) ,mcrwal (1})
S , (rgstd(4990) ,merna (1)) ., (rgstd(5030),mdtot (1})

W b=

Ak W

00N an
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c a  {rgstd(5070),mscl (1)} ,{rgstd(5110),tcrwal(l)})

c b ; (rgstd(5150) ., td (1))
o
real*8 wi, fmf, svE,veln
dimension wf {55), fmE(40),svE(40),veln{55)
common /cestate/ wf(55),fmf (40} ,svE(40),veln(55)
c
real*s wbar,dw,ws,wh,closs,deltp,veidl,p, r,
* rh,vh,vs,veg,ms,mh, void, x, v, svs,
* veloss, velosh, velos
c dimension ws{55) ,ms(40),svs({40),veloss (55)
common /state / whar (55} , dw {55}
* (WS {55) , wh {55) , «closs (55)
* ,deltp {(55) , woidl (55} , b (40}
* . r {40) ., rh {40} , wvh {40)
* , Vs (40) , wveg (40) , ms {40)
* ,mh (40) , woid (40} , x {40}
* 'Y (35) , svs (40}
common /vell3/ veloss(55) ,velosh(55) ,velos (55}
c
c equivalence
c 1 {(ws{1) ,wE(1))
c 1 SAms (1) fmE(1))
c 2 Aevs (1), svE(L))
c 3 , {veloss(l),veln(l}))
e et e e ettt et s e e n e ettt it i e
¢
¢c--- wvarliable of swacl3d ---
real*8 agls , devrl , hgas . hlig 00014910
1 , lgas , ilig ., kgas , klig 00014920
2 , miugas , miulig , prgas . prlig 00014930
3 . ggas . qlig , qmet ., rhub 00014940
4 , tgas , tlig , tmet 00014950
5 , ugas , ulig , velrl , warh 00014960
6 , wars , wnd ., whnd , wsnd 00014970
7 , tmbar , ugbar , ulbar 00014980
c
common /geomet/ v({40) ,kappa(55),a2node{d40),
1 a2link (55,10} ,beta ,lpd({55) ,czl(3),
2 cz2{55,10) ,c23(55,10) ,czd4(55,10),
3 hinit (40)
common /gspnew / agls{40) . devrl ({55} .,  hgas(40) 00015480
1 ,hlig(40) , 1gas(40) ,  ilig{40) 00015450
2 Jkgas(40) ; klig(40) ., miugas{40) 00015500
3 (miulig{d40) , prgas(40) , prlig{40) 00015510
4 cagas (40) , qlig(40) ,  qmet{40) 00015520
5 ,rhub (40) , rs{40) . tgas{40) 00015530 -
6 Alig(40) , tmet(40) . ugas{40) 00015540
7 ,uliq(40) , velrl(s5) , warh{40) 00015550
8 ;wars (40) ,  wnd{40) ,  whnd(40) 00015560
9 ;wsnd (40} ,  tmbar(40) , lugbar{40) 00015570
a ;ulbar (40) 00015580
ot e it it ettt e n e e et ettt et e e .,
c
C
g = 9.81
t = £t + deltim
tr= 0.0
c

if(iflag .egq. 0 ) then
do 300 i=l,n

il =1i-1

mrptot(i)= rgstd(4830+il1)
cc(i) = rgstd(4870+il)
crna(i) = rgstd(4910+il)
mcerwal{i)= rgstd(4950+1il1)
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merna{i) = rgstd{(4990+il)
mdtot{i) = rgstd(5030+il)
msol (i) = rqgstd(5070+il)
terwal(i)= rgstd{5110+1il)
td(i) = rgstd(5150+il)
300 continue
iflag = 1

endif

do 310 i=1,n

a{i}) = ( 4(i) * 4{(i) ) * 3.14159 / 4.0
txr = tr + tf(i)
fmf (i) = ms (i)
svi(i) = svs(i)

310 continue
do 320 i=1,kc
ii =i-1
link(1l,i)= igstd(47+il}
link({2,i})= igstd(102+i1)
wE (i) = ws (i)

320 continue

tx =%tr / n
smuf = 10.*%**(220.65/(tr+273,)+0,.5108} /{tr+273,)**0,4925*%9,9862
1 *1.,e-04

define the junction condition * jcon(5,2,n) * from the link

condition ' link(2,k)’

jmax = 0

do 110 j2 = 1 , 2

jjz = 3 - j2

do 110 53 = 1 , n

ji = 0

do 115 k0 = 1 , kc

if ( link(jj2,k0).ne.j3 ) go to 115
jl = jl + 1

jeon({ 31, 32 , i3 ) = link( j2 , k0 )
if( jl.gt.jmax ) jmax = Jjl
if{ jl.le. 5} go to 115
write ( 6, 116 )
116 format{ ‘0 stop the junc condition calculation ’ )
stop

115 continue
110 contimnue

do 420 n0 =1 , n

witot = 0.

do 400 nu 1, jmax



it = jcon( nu ,1 ,nd )

if ( it .eqg. 0 ) go to 400
kO = kecon{ it , nd )

iig=1

1f(wf(k0).le.0.} 4ii0=0
wftot = wftot + 1i0*wf(k0)
400 continue

do 410 nu = 1 , jmax
ii = jecon( nu ,2 ,n0 }
if ( i1 .eq. 0 ) go to 410

ko kcon( n0 ,ii)

iio=1

if (wE{k0).ge.0.) 1i0=0
wftot = wftot + 1i0*wE (k0)

410 continue
veln (n0)=wftot/a(nf) *svt (no)

420 continue

do 140 i=1,10
140 sigmfc = fcor(i) * sdk(i) ** 3 + sigmfc

do 150 i=1,10
150 feord{i}) = fer(i) * (sdk(i)**3) / sigmfc

do 160 i=1,n
160 svmu (i) = smuf * svf(i)

do 330 nk=1,nnodew
do 340 i=1,n

if{i.eqg.nrt(nk)) then
do 350 la=1,2
do 350 1lb=1,20
so({la,lb) = soc(la,lb,nk)
350 continue
ssa(i) = finter(so,t, 20}
endif

340 continue
330 continue

delt = deltim/float(l)

rrmax=0.
do 360 n0=1,n
rr=veln(nd)*delt*a{n0}/v{ni)
if{rr.ge.1.) then
if{rrmax.le.rr) rrmax=rr
endif
360 continue
kd2=int (rrmax+1.}
delt=delt/kd2



c*****************************'k*****1\—***********************************
[

1234 continue
do 100 i=1,n

c
if(fmf(i) .ge. 0.001) then
c
gqin = 0.
gine = 0.
ginr = 0.
gout =0,
goutc = 0.
goutr = 0.
delmdt = 0.
c
C e ———————— g in ——mrmemm—————
C
do 20 nu = 1,5
it = jeon(nu,1,i)
if(it.eq.0) go to 20
k0 = kcon(it,i)
if{wf(k0).1lt.0.) it=i
gin = gin + wE({k0)*{cc(it) + crnalit))
ginc = ginc + wf (k0)*cc(it)
ginr = ginr + wf(k0)*crna{it)
20 continue
C
C —— e g OUL —— e
c
do 30 nu = 1,5
it = jecon(nu,2,i)
if{it.eq.0) go to 30
k0 = kecon(i,it)
il =1 _
if(wf(k0}.1t.0.) il=it
gout = gout + wf{k0)*(cc(il) + crma(il})
goute = goutc + wf{k0)*cc(il)
goutr = goutr + wf(k0)*crna(il)
30 continue '
o]
o e D DL et new mrptot calu --------————cmmr e
¢
delmrp = gin - gout + ssal(i)
mrptot{i)= delmrp*delt + mrptot(i)
if (mrptot(i).1lt.0.) mrptot({i)=0.
csat = 40./16.*10.**{-6.)*10.%*(6.239 - 2447./{(tf(i)+273.))
cd(i) = mrptot(i)/fmf(i)
o
if{cd(i).le.csat) then
c
C —mmmm e all solution ————— -~ —m e
c
merna (i) = 0.
mcxrwal{i) = 0.
mso)l (i} = mrptot(i}
terwal(i) = 0,
mdtot (i) = 0.
td {i) = 0.
do 40 1=1,10
40 mndk{i,1l) = 0.
c
C rrmmmem—— e —— e not all solution ------——-
c
else
c

merna (i) = merna(i) + (ginr - goutr + ssa{i})*delt
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if(merna(i).lt.0.} mcrna(i)=0.
msol (i) = msol (i) + {(ginc - goutc) *delt
if(msol(i).1t.0.) msol(i)=0.

ed (i) = msol (i}/fmf (i)

delmrs = fmf (i) * (cd(i)-csat)
msol (i) = csat * fmf (i)

cor = ¢r * acr{i)/v(i}

if(cer.gt.1.) cor = 1,

new crystallize

mcerwal (i) + delmrs*ccr
mcrna (i) + delmrs*(l.-ccr)

merwal (1)
merna (1)

if{csat.gt.cd(i)) then
if (mcrwal (1) .1t.0.) then

mdtot (i) = mdtot{i) + mcrwal{i}
mcrwal (i) = 0.
terwal{i) = 0.
if (mdtot(i).lt.0.) then
mcrna (i) = merna(i) + mdtot (i}
mdtot{i) = 0.
endif
endif
if{mcrna{i).1t.0.) then
mdtot (i) = mdtot({i) + mcrna(i)
merna{i) = 0.
if{mdtot(i).1t.0.) then
merwal (i) = merwal (i) + mdtot (i}

if{merwal{i).1t.0.) mcrwal{i)=0.
mdtot (i) = 0.
endif
endif
endif
cd(i) = csat
terwal (i) = mcrwal (i) /rownao/acr (i)
do 50 1=1,10

mndk(i,l) = merna(i)*ferd(l)

precipitation node
if(ad{i).gt.0.) then

merna{i) /rownao/ (mf (i) *svf(i))
rownao*svE (i)

qn
snao

i n

do 60 1=1,10

sdk(l) = sdk({l) * 0.001

wEQD (snac - 1.}*g/18./svmu(i}*sdk(1l)**2

wfo {(snac - 1.)* 9.81 /18./svmu({i)*sdk(1l)**2

ref wEO*sdk({l) /svmu{i}

I nn

if(ref.gt.5.) then
cw 11./sqgrt{ref)
wfo sgrt(4./3.*g/cew* (snao -1.)*sdk(l))}
wio sgrt(4./3.* 9.81 /cw*(snao -1.)*sdk{(1l}))

“endif

I

wid = wf0*(1l.-sdk(l)/d4(i)})
* : *{1.- sk*7.9%* (sdk(1)/4(i))*¢m)
veln{i)*sin{thtan(i)/57.2957795) - wid
if(vp.lt.0.) then
delmd = delt*abs{vp}/mlp(i)*vd(i})/v(i)*mndk(i, 1}
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delmdt = delmdt + delmd
endif
sdk(1l) = sdk{(l) * 1000.
60 continue

mdtot (i} = mdtot(i) + delmdt
td (i) = mdtot (i) /rownao/ad (i}
mcrna{i) = merna(i) - delmdt
do 70 1=1,10
70 mndk{i,l) = mcrna(i)*ferd(l}
else
——————————————— not precipitation node - --——-—-———————o
mdtot (i} = 0.
td{i) =0,
endif
endif
crnad{(i) = mcrna{i)/fmf (i)

endif
100 continue
do 200 i=1,n
cco{i} = cd{i)

200 crna{i}) = crnad(i)

return
end
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cceee kecon
function kcon( nl , n2 }

search the link k that is equivalent to node i , j

commen/iput/ knput (400)
dimension link(2,70)
equivalence (knput{21l),link(1l,1})
1 ¢ (knput {1}, k)

oaoaonoaoaaann

common /gstd/ i1gstd{1100) , ragstd(5500) , tgstd(20)
common /link0/ link(2,55)

equivalence (igstd(3),k)

20 format {'0 kcon routine stop’ )
do 10 k0 =1, k

if { link{1,k0).ne.nl } go to 10
if ( link{(2,k0}).ne.n2 } go to 10

kcon = k0
return

10 continue
write( 6,20)
stop
end
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function finter( tp ,time,nps )

real*8

tp, finter, time

dimension tp({2,1)
do 100 3 = 1 , nps

1 =7

if { time - tp(l,j) } 105 , 110 ,
100 continue

go to 120

105 if{ i.ne.l ) go to 120

110 fintex
return

120 i2 = i-

finter
1

1

6 format(’

return
end

tp(2,1i)

100

tp(2,i2)+{tp(2,1i)-tp(2,12))/(tp(l,i}-tp(1,i2))

*(time-tp(l,i2))
finter routine message

time
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